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455
~ A —SECTION —|j
ENGLISH (COMPULSORY FOR ALL STREAMS) 5

Read the passage carefully and answer the
questions (from No. 21 to No. 25) that
follow choosing the correck alternatives
given - -b-
If we would see our dream ofd}nnchayan Raj,
1.e., true democracy realized, {&& would regard
the humblest and lowest Indian as being the
ruler of India with the tallesﬁw land. This
presupposes that all are purF will become
pure if they are not. And purity must go hand-
in-hand with wisdom.
No one would then harbour-#ny distinction
between community and comynunity, caste
and out-caste. Everybody wo%m i regard all as
equal wntllgljgéelf and hold ﬂjg together in
the silken net of love. No one would regard
another as untouchable. uld hold as
equal the toiling labourer “dnd the rich
capitalist. Everybody would know how to
earn an honest living by the sweat of one’s
brow, and make no distinetion between
intellectual and physical labo
To hasten this consummat'(an we would
voluntarily turn ourselves mt(Ugavengers No
one who has wisdom will ever touch opium,
liquor or any m/tojncants body would
observe Swadesh1 as the rule e and regard
every woman, not bemg his wife, _as his
mother sister or daughter accordmg to her
age, never /_usLafter her in his hgart. He would
be ready to'la/y_d_o_@ﬁl_sif_ehhen occasion
demands it, never want to ta other’s life.
If he is a Sikh in terms of the@ommandment
of the Gurus, he would have the heroic
courage lo stand single-ha and alone--
“without yielding an inch of d against the
"one lakh and a quarter" enjoined by them.
Needless to say, such-a son of India will not
‘ “want to be told what his duty in the present

 hour is -

21.  This passage is ADOUL ......ccowurereisesserrnicinines :
(ﬁ)/[femocracy
- !
(B) Panchayati Raj in Democracy
=~
(C) the mn of Panchayati Raj
the ﬁ&)onsnbxhty of citizen

22. In Pﬁyati Raj, distinction between
different” communities and castes would

(A) harbeur

I
(B) remowk
o

\%n%'g the same

(D) None of these

g
In Panﬁ&nti Raj, no women will be .......... .
(A) rggarded equal
@ﬁlested
—
(Oabouer

.. N
(D) intel{getual
—

>

24. In para@) the antonym of
'unwilly .
(A) into%nts
(B) consummation
{C)Aoluntarily
(D) y:el(ﬁg

25. When 0$asnon demands, everybody would
DeyoadiPi e s

(A) takﬁther s life

\)’(y down their lives

(C) dominate over weaker

(D) command over their weaker

Page 5 of 72
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Read the following poem carefully and 26. What will again expand to a tree’s full size’
answer the questmns (from No. 26 to Moo ¥
No. 30) that follow choosing the correct
alternatives given - s (B) gregn twigs
It takes much time 5%l a tree, ©) § ru-‘:ls
Not a simple jab ofghe knife wn
Will do it. It has grg¥n (D) figers
Slowly consumin arth,
N - ()
Risthg but of it ﬂm 27. Whﬁelaud to the death of the roots’
Upon its crust, absorbing (A) Pulling out
Years of sunlight, air, water, 5 .
And out of its leprous hide (B) Scorching
Sprouting leaves. 1: (€) C_,hf;ki“g
So hack and chop < { !
e DY Allxhe abov
But this alone wongao it. U/ y saore
Not so much pain v@ll do it. 28. Chok@ is done in the absence of ... :
The bleeding barkpygitt heal '
; . = A
And from close tofhekround i ﬁ
Will rise curled green twigs, (BY air
Miniature boughs (
Which if unchecked will expand again ) water
To former size. — (D) su-@ght
No o 29 & : -
; O - Whatdmppens to a tree’s bleeding bark?
The root is to be pubed out - ~
Out of the anchoringéarth; {87 1t Wals soon.
Itis to be roped, ti (B) lﬁls after a long time.
And pulled out - snapped out
Or pulled out entirely, (C) It never heals.
Out from the earth-cave, (D) It destroys the tree completely.
And the strength of tHe tree exposed e ‘
The source, white angjwet, 30. What :%es the poet symbolise a tree in the
The most .sen.smve,ﬁﬂden WO
For years inside the@arth. [®))
A
Then the matter ﬁ le thought
Of scorching and choking (B) A deep-rooted evil
In sun and air, -
g c [ '
Browning, hardening, () A long tradition
Twisting, withering, (D) A good habit
And then it is done. : ~
OSSTET/P-I Page 6 of 72 [SET-D|

: s : l - ~ ‘
—— B —
(3 scanned with OKEN Scanner



31. When did he return the book to the library?

The passive of the sentence is -
(A) When had the book returned to the

library?
(\%en was the book ﬁtumed to the
library? ~J
(@)
_(C) When had the book beesreturned to the
library?

(D) When has the book bﬁeturn'ed to the
library?

32. The rising tone is used for .............comveeeen :
(A) Statements
(B) Wh-questions
Mbmmands
(D) Requests

33. Which letter is silerﬁn “sle” in
pronunciation?
(A) i
(B) s

€)1
G |
34. My faflierii................. thiaouse 30 years

ago.

~ (A) bought F%
.7 (B) has bought
,L%ibought

olG/vl

GLvl

36. 1 will follow her in order to impress her. The

underlined clause is an adverbial clause of .....

\(})/reason

(B) result
©) AN
plggose
(D) cqmtrast
37. Whij?.' the correct pronunciation of the

word, “Sane’?

iA//saen/
(B) /s@/

(©) /sep/
. N
(D) /sém/
38. Rog@gested Diand T8 Ll
\(»9/(]1/at she should cook dinner for him
(B) to cook dinner for him
(C) can cook dinner for him
—
(D) m% cook dinner for him
39, Neithé_{lhe old man nor his sons ...................
prepa% to sell their old house.

(A)

(C) has been

(D) has been bought X et (D) are
- 35. The poet compared her faa ----------------- the 40. The t@f ...................... a lot of money.
s, , ok (A) g&n with
B with » (o)
o {4 (B) got'in with -
- (B)in
i3 : ﬁ C ong with
(D) got away with
Page 7 of 72 ' [SET-D]
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hixs ' B - SECTION — III
‘L ARTS GROUP — ODIA (OPTIONAL)
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B - SECTION — I1I
ARTS GROUP - ENGLISH (OPTIONAL)

36. When L pointed my camera.............. the
baby, she started to cry. B
NN
(A) to ~
O
—
(B) on

(@) )
(C) with ﬁ
Drat

S57. The regular practice of Note—ﬁaking helps our
~l

learners to develop their- ¢n
—
(A) Listening and Speaking %
(B) Listening and Reading ﬁ
Meading and Writing
(D) Speaking and Writing
A .
58. The patient ............. before t@poctor arrived.
(A) died
(B) has died

(6)

—

o
(¥had died

(D) has been died

—
S
59. The word, ‘beautiful’ is a a_l.l word.
; Pl
(A) monosyllabic (0))
(B) disyllabic ﬁ

\(?{ polysyllabic

(D) bisyllabic

- OSSTET/P-I

A L e
e

oAl it TG R

L
e

e ———

Page 100172 ——

60. Rajib said to his sister, “Do you like apples?”,
The ‘Indirect Speech’ of this sentence is -
—
(A) Rah—njﬁjsaid to his sister if she liked apples.
6,
(B) Raf(}Bsaid to his sister if she likes apples,
%sked his sister if she liked apples.
(D) Rajib. asked to his sister if you liked
apples.
S
61. The negzlbridge ............ five months ago.
—
(A) opediRd
M ened
FE
(C) has been opened

(D) had been opened

62. ]:Mjgl Grammar is based on -
(&) Snlgrules
—

(@) o
(B) rules and definitions
(C) mﬁeﬁnitions and structures

(D) communicative use of language

63. Readinxa non-detailed text develobs the
4 08
skills o€»
—

(A) lnte?givc Reading
M{ﬁv; Reading
(€) Close Reading

(D) Critical Reading

B SN R

[SET-D]
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64. The teacher gives focus on ‘Collection of

Ideas’ as a step for developing learners’

skaill.

@/Listening

(B) Speaking

(C) Reading Eﬁ

(D) Writing

9lG/vl

Read the following passage carefully and
.

answer the questions frpm (No. 65 (o
-\]

No. 67) that follow chodSthg the correct

alternatives given — 9

Old age is the perioﬁmman life that
is feared by all sensible persons. Physically it

1s that period in which human beings get weak
—

and dependent on their @sically dears.
: ) (@)

Various diseases come to tham and they are

(0)
not active as they were when young. Because

of being a kind of physﬁand financial
burden on their children, they start getting
- neglected. Not only that, th-eg feel discarded
from their own blood. This iaw stage in their
lives which is the most fei_i;d. Many cruel
children, especially son at their old
. éarents'_ as a burden. It is S:ﬁ they think of
- sending them to. lold age homes. But it is no

-remedy. The aged think it is better to be dead.

Old age homes are not a solution byt

i such a situation they bring some ray of hope
Co ;

I
to theg At least in old age homes, they meet

—
othersGPn similar circumstances. On getting

togetEer they get some respite from their man-
5% /

made problems. But what is needed are a few

—
wordsiblf love and affections from their own

and -%Olyttle bit of care. "ﬂley‘ are never a
burd@he youngér generation must think
that they too will be old one day. And
secon@, they are ;here because of their

\I
paren&ﬂlt is a phase of life that comes sooner.

65. The lﬁ:, at their old age, are neglected by

their children because they become

(A) phﬁical burden on their children
gy

m . » \-
(B) financial burdén on their children

o) .
Mysical and financial burden on their

children

(D) old, helpless and sick and annoyed attitude

OSSTET/P-1
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66. The old people get relief in old age homes - 68. The name of Belinda’s dragon 1s -
(A) by meeting other old and young people.
B) 6y meeting other old people with similar (A) Red Wagon
problems. —‘a N
(C) by talking with other oldigeop]e and eating (B) Pets%ragon
nice food. G) g
(B) by staying comfortablﬁd eating tasty (C) Cu(s)tzu‘d
food.

67. Which word, in the passage, means thrown 9&)
out?

-

{Z¥discarded TAN

—
1N 69. The posd is about ...
(B) generation a Q_‘E_‘
: LY CD )
Odespite (8) (A) Belinda
(D) burden Eﬁ

Read the poem carefully and answer the (B cl'i;lda’s pets

questions from (No. 68 to No. 70) that

-
-— 3 v,
follow choosing the corgwsct alternatives (€) Bcu\hlda S mouse
\l
: &) (€)
given - bl —
: (o)} (D) Dr&#dn and Wagon
Belinda lived in a little wh%use,
With a little black kitten #08 a little grey " Whicﬁr i i Sk
mouse,
and a little yellow dog and a little red wagon, (A) wagon
And a reall realio, trulio, 11ttle p@ragon “‘\;’
(B) spifey
Custard the dragon had blg@harp teeth, K2
CoSE

top of" q;‘}m and scales
And spikes on top ’ ng >
underneath, EE ﬁ

Mouth like a fireplace, chimney for a nose,

(D) trulio
And realio, trulio, daggers on his toes.
OSSTET/P-1 Page 12 of 72
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B - SECTION - 111
ARTS GROUP - HISTORY & POLITICAL SCIENCE (OPT[ONAL)

71. Who among the following canstitute the . 74. Which of-the following was not one of the
National Development Councilﬁ chief cha-’r!:tteristics of the architecture of
/ The Prime Minist g: A

inister : , vod?
o Akbar’s Pgod.
The Chairman, F manc;ﬁmmission (A) Extensive use of red sandstone
(3)  Ministers of the Unio inet (B) Increlassﬁg use of marble

(4) Chief Ministers of the States (})/Use Ofpietra dura

Select the correct answer using the code given (D) Placing of tombs in oarden-setting
; =] o

75. The powegwf the Supreme Court of India to
decide di@x’;les between the Centre and the
States fal@nder its -

(A 1,2 and 3 only
(B) 1, 3 and 4 only
(C) 2 and 4 only
(D) 1,2,3and 4

H] 9LG.Yl

(A) AdVlﬁJlll‘lSdlC(lon

(B) Appellate Jurisdiction

72. Which of the following is not correctly (C) Original Jurisdiction

matched? 2 (D) Writ Junsdiction
(A) Russian Revoluti R i D o
ussian Revolution - omagv ynasty 76. Which ol‘?ﬁe following is Not one of the
Mirst World War - ArChdng’a“Z edicts/ ins@'\plions issued by Asoka?

Ferdina _}M/ i ipti
Delhﬁra Pillar Inscription
%ler . ‘

(C) Second World War - Adol (B) Bhabru Edict
~ (D) United Nations Organization - Panchsheel (C) Kalinga Edict

Agreement (D) Junagarh Rock Inscription

73. Which of the following Commissions was 77. The r'eigngwhich of the following Sultans is

: ot -
constituted to deal with -(pntre-States

i said to m@% the highest point of territorial
relations in India? 6; expansion(_g;' the Delhi Sultanate?
(A) Sarkaria Commission ﬁ (A) Alauﬁl(hilji
ij?a Kalelkar Commissio (B) Moharr;‘mad-bin—Tu ghlaq
(CyMandal Comn‘iiSSiOn (C) Firoz Tughlaq
(D) Kothari Commission ' (B} Sikandar Lodi
OSSTET/P-1. - Page 13 0f72 : [SET-D]
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78. Which of the following Indian rulers was first
10 sign the Treaty of Subsidiary Alliance of
Lord Welleslcy'?

(A) Ruler of Mysore.
15{ Nizam of Hyderabad
(C) Nawab of Awadh

3] 9LGivl

() Ruler of Tanjore

79. The Right to Property, which was originally a
Fundamental Right, was abolished by which

Co_nstitutional Amendment?
(A) 40™ Amendment
(BY 42" Amendment
(C) 44™ Amendment

(D) 46™ Amendment

] 916.v1

80. Which of the following Articles deals with the

procedure of the Amendment of the Indian

Constitution?

(A) Article - 168

ynicle -268
Y Article - 368

(D) Article - 370

] alaivl

81. Which of the following is not matched

correctly? .
=
AA‘)Z/ICahatma Gandhi - Hind SWﬁj

(B) B.R: Ambedkar - Annihilati&_ﬂof Caste
(C) Raja Ram Mohan Roy - A" Gift to the
l ' ﬁolheists
(D) Bal Gangadhar Tilak - India Wins
Freedom

OSSTET/P-I

82. Nitisara, a work on polity addressed to the

83.

84..

85.

Pagé ldof 72

king is credited to which of the following?

(A) Patanjﬁ
-~
(B) Paninicyy

—
(G Kautil@

(D) Kamﬁ(é

Which of the following literary works was not
composed by Harshavardhana?
(A) Ratnavali
L
(B) Naganangla
(&)
Myad@hﬂ(a

(D) Kadaﬁi

The practice of “Judicial review” in the Indian

Constitution was borrowed from which of the
* » A
following 2,
: ~J
(A) Austraﬂl Constitution
5 ;
@/ﬁrench Constitution
(C) Cana "hFConstitution

(D) American Constitution

The Natio_llgl Integration Council was- first

constitutedﬁ) the year -
&)

A) 1951 =

(A) 1951 o

(B) 1961

(©) 1971

(D) 1981

[SET-D)
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B - SECTION — 111
ARTS GROUP . GEOGRAPHY & ECONOMICS.A(OPTIONAL)

D
; ~J

86. The Captain of a' ship recordedh the time as
—

7.00 hours GMT when the sé@was exactly

overhead. Where was the shiﬁioned?

(Makistan

(B) India

(C) Sri Lanka

(D) Bangladesh
87. Select the odd pair from the follqwing -

(A) Yamuna - Chambal

(B) Godavari - Sileru

(C) Mahanadi - Tel

(DY Kaveri - Koyna

88. Which of the following currents can be

5] oLG/v

distinguished from the others three on the
basis of its direction of movement?

(A) Humboldt Current
(B) Benguela Current
Mest Australian Current

(D) Falkland Current

3] ol6/vL

89. When a convex slope is shown with the help

of contours how will the contours be drawn?

—
(A) Close spaced at the top and\hlvide apart at
the bottom U"

(B) Wide apart at both at th@op and the

* bottom ﬁ

) Contours will be wide apart at the t‘g;)p and

90. Write cnc\alnologncally the following stages of

pressure @ndmons from low to high order -

(1) ﬁessmn
(i1) &vere Cyclone

(iii)  Super Cyclone

(iv)  Deep Depression

(A (D), (ii), (i), (iv)
ﬁ(i), (ii), (iv), (iii)
(C) (i), (iR, (i), (iii)
(D) (i), (@) (i), (iv)
91. Which oESofthe following is a second order

land fo@
(A) Laks '-z;dweep

(/BYAravalli
(C) Chilika
(D) Barehipani
N
92. Lack of?ndmployment in spite of having

educatim&*’ qualifications do come under

which tﬁf unemployment?
(A) Sea

(B} Disguised
(C) Technalogical

(D) lnstir@onal

93. Which oghe following state is having the

highest I-fBI"
(&) Kerf

(B) Karnataka

closer at the bottom (y)/Maharashtra
(b) Closely spaced both at the top and bottom (D) Jharkhand
OSSTET/P-I Page 15 of 72 [SET-D]

G Scanned with OKEN Scanner



4. What is the basis of determining the poverty 98. Which of the following states in India has

g shown g_§fabi]iscd trend of population growth
(A) Monthly income of a perslﬁ ~
i - 9
(B) Monthly expenditure of a@érson during 3101 20117
T — —N
(j(f\lie difference between mynthly income (A) GoP?

and expenditure of a per

: * B E&E
(D) Monthly savings of a person L)/ﬁ nd

95. Which industry is similarly related to Ranipet (C) Kerala
as is cement industry to Porbandar? ' :
Kty (D) Punjab
(A) Cotton Textile
(B) Wollen Textile - 99. Cherrapunji and Shillong though situated
(©Chemical Fertil i N
( e - shuser ~J closely%th each other, Cherrapunji receives
(D) Paper Mill O 9_:
: . : Mg
96. Which of the: following Ba&) does regulate Yoy yeinfall than Saehogs by
the currency transaction at @time of price (A) Sc% forests around Shillong
hike in the country? :
(B) Higher altitude of Shillong
(A) State Bank of India '
@)/]{eserve Bank of India %uation of Shillong on the leeward side
i Y = 5%
(©) Indlan. Bank 1. of S;E*‘long Plateau
(D) Overseas Bank (J\'!
L= (D) Sc fall by S W. M
97. Arrange the prominent Hifnlayan peaks am‘? St by e
according to their altltudﬁl ascending 100. Whlc sphere Reserve’ in India was the
order -

_ first to be enlisted within the “World Network
(A) Mt. Everest, Kanchenjunga, Nanda Devi, of Biosphere Reserves” by UNESCO?

%hauladhar K 7 (A) Theﬁulf of Mannar

hauladhar, Nanda DeviManchenjun a, ~
(&)] i (B) The®anda Devi
Mt. Everest ~ mah
(@) ' (8))
(C) Dhauladhar, Mt. Everesta ianchenjunga, {c)’(ﬁndarbans
D 1 " A}
Phancabeyi (D) The Nilgiris
Nanda Devi, Dhauladhar, Kanchenjunga,
Mt. Everest ’

OSSTET/P-1 : Page 16 of 72 [SET-D|
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41.

An a ~ ¢ voltage source E = 200\5@11 00t is

B — SECTION - 111
SCIENCE (PCM) PHYSICS

'l

44. A batis approﬁhing a stationary prey at S5m/s
connected across a circuit contain@é a~c when the windl is blowing In the same
AL It I
ammeter and a capacitor of capacitﬁtF. The direction at 2m¥s. If the bat sends u rasom'c
T . waves.at 32 KHz and the speed of sound is
f ammeter is - - :
EE 325 m/s, whﬁ arent frequency is heard by
(A) 10 mA i E
the bat?
(B) 80 mA (A) 31750 Hz
(C) 40 mA (B) 31710 Hz
(D) 20 mA (C) 32300 Hz
42. A metal wire of radius ‘r’, length ‘I’ and (D) 32700 Hz
~ = i f filled
Poisson’s ratio ‘c’ elongates by @ging 3 45. A vessel of d;g{h 10cm has its one half fi
: : . with a liquidé\ﬁl refractive index 1.2 and the
load on it. The fractional change in ﬂume of . :
St (o)) ‘ other half ﬁl@’ﬁ with a liquid of refractive
the wire " —" will be - index 1.5. Tﬁ pparent depth of the vessel
(A) (%1)3 T IEE when seen fildmRbove is -
(A) 7.5 cm
1
(B)AT(l + 20) (B) 6.5 cm
(C) 83
(©)T(1-20) ik Kt v
‘ BN (D)73cm
1 T e
(D) /AT (1+ 20) a 46. The potential d_ﬂfference between the points P
Qo and Q in the gi¥en electric circuit below is -
43. A geostationary satellite is orbitin% Earth 20
at a height 6R above the surface o Earth, Q
where R is the radius of the Earth. The time 2l :
%y 20
period of another satellite revolving,around %213
Earth at a height 2.5R from Earthl%purface ~
; O :
IS - a P 89 20
(A) 12v2 hr - (A)2V
(B) 12 hr E (B)2 V E‘:E
(C) 6v/2 hr (C)g v
(D) 6 hr (D) Zero
OSSTET/P-1 Page 17 of 72 [SET-D]
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TE coil of 10cm x 10cm having 50 turns is
rotating in a magnetic field with an angylar
speed of 314 per second in a mag%tic field of
induction 2 tesla. The peak vah{ibf induced
emf will be - 5
(A) 110 volt E‘@%

(B) 220 volt
(C) 314 \./olt
(D) 628 volt

.
48. Frictional forces as observed on tﬁel surface of
\

the Earth, when two bodies a@n relative

motion, beiong to which basic focr)c)e observed

"

in nature?

(A) The gravitational force

(B) The weak force

(C) The strong force K
! ~J

(D) The electromagnetic force 5

—

49. A parallel beam of monochrom#ac light of
E
wavelength 5000A° is incident %ally on a

single narrow slit of width 0.001 mm. The

50. A person observed the acceleration due to
gravity ‘g’ fi a height of ‘h’ above the surfac,
of the Eartﬁsame as he observes it at a depth
‘X’ below g; surface of the Earth. If ‘h’ apq

‘X’ are mﬁmaller than the Earth’s radius,
'™

the relation between ‘x’ and ‘h’ will be -

(A) x=h
(B) x =2h
—
S
©x=1 3
(@)
-—
D) x=h’

S1. The variﬁ;% of electric potential due to 2

system of charges with distance ‘x’ from a

fixed point is shown below -

—

_—>
Potential in Vvolts

N = o oo o o - o

Pt e - - -
N oo =
o 4

0 3
* Distance xin meter

light is focussed by a convex lenﬁn a screen K
placed on the focal plane. The ﬁa minimum e electrn(c;ﬁ B0 xS

SHAY —
will be formed for what angle of giffraction? (A) g volts/a
-
el ﬁ (B) ?2 Vo
(B) 15° .
G (€) — 2.5 volts/m

30°
(D) 60° (D) 2.5 volts/m
OSSTET/P-I . Page 18 of 72 [SET-D]
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53:

Four waves (1), (2), (3) and (4) given as -
y1 =30 sin(200mt) — (1)
y2 = 30 sin(202xt) — (2)

y3 = 30 cos(200xt) — (3)

gLS.lvl

¥4 =40 sin(200nt) — (4)
are emitted by four different sﬁs S1, Sz, S3
and S4 respectively. Which of the two sources
could produce interference phenomena in

space under appropriate conditions by the
superposition of waves?

(A) Sy and Sy

91671

(B) S; and S4

(C) S; and S;3 ; ﬁ

(D) Sy and S,

A thin circular disk of mass ‘M’ and radius
—
‘R’ is rotating about its axis pe@?ndicular to

the plane of the disc passing thrmcﬁh its center
o

with a constant angular veloﬁ:m’. Two

objects each of mass ‘m’ are ed gently
to the opposite ends of a diameter of the disc.

‘The ring will now rotate with an angular

54. Two liquids that do not react with one another

and are miscible have densities 1000 kg/m?

—

and 1500 fg/m? If equal masses of each are

(ﬂ - -
mixed, thec'gensity of the mixture will be -

(A) 1250@1é

(B) 1200 kg/m?
(C) 1400 kg/m?

(D) 1450 kg/m®

——

A YN :
35. A slab of éopper of thickness b is inserted in
o :
between the plates of parallel plate capacitor

as shown below.
s

%

| A=Area

Vo R
A v
A

The separ(a‘Ron between the plates is d. If

e
b = St en the ratio of capacities of the

capacitor after and before inserting the slab

illbe - ==
velocity - -.E: e ﬁ
oAy Ny
(A) ®(M-2m) gl (A) \/i : 152
M
(o)) (8))
(B) oM : (B)2:1 ﬁ_,:
M+2m :ﬁ
A E € 1:1
otz ‘
m
; (D) 3
(D) ©(M+2m) 1:42
M
OSSTET/P-1 Page 19 of 72 [SET-D]
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36. Two clectric bulbs rated 60W, 200V and
100W, 200V are connected in series to a
supply of 200V. Which oﬂ-;i;he following
statement is correct? (.\Yl!
(A) 100 W bulb will glow bri%}er.
(B) 60 W bulb will glow bri A
(C) Both 60 W and 100 W blﬁ%il

same brightness.

I glow with

(D) 60 W bulb will not glow at all.

57. A wire ofleﬁgth ‘I’ Joaded by_—gblock of mass
‘m’, density ‘p’ is vibrating \at]h a frequency
‘n’. What will be the frequeﬁ_gf of vibration
‘n"’, if the block is \\'hollEﬁmcncd In a

liquid of density & ?

(A)n’ =n ’1 +2
P r—
N
(B)n'=n,1—-;I Zﬁ'

—

9. Aniron ball of mass ‘m’ takes'time ‘t’ to reac,
the floor of a stationary lift when droppeg
— = el
from a h&dght h’. It takes time “t" to reach the
o
floor when the lift is moving up with ,
(8)
constalﬁceleration ‘a’ and the mass s

dropped from the same height, then -

(A) t>t
Ay
(B) (= '
o
(C)t <=
(@)

(D)"E??ET

60. Two charges -qi and +q), having masses m

and m2_Jespectively moving with equal

EAN
momcntEj’Eﬂ cnter a uniform magnetic field ‘B’

wd _
b n (@) normal @Xhe lines of force. If their radii of
o) s i ' a
i ﬁ curvauﬁf circular paths are r; and n
IAgs n
Gl 1-2 respectively, then -
P
58. Two raindrops are observed to hit the ground (A):—‘ = %
2
with speeds 6 cm/s and 1.5 cru/s respectively. -
The ratio of their radii will be~ r2 a
ok sh
(A)2:1 (o)) ('c)r_1 _ Y,
3 . r2 1
B)1:2 : ﬁ
C)8:1 LMy
(€) 8 o= |
(D) 1:8
‘ ' SET-D]
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B — SECTION — 1
SCIENCE (PCM) CHEMISTRY

61. The momentum ofa particle with a de-Broglie 64. The types of bond present in CuSO4. SH0 are
wavelength of 0.1 nmis-  _, anly £ #e
> o~
(A)3.31 x 10 kg.m.s! ZJT\I (A) electx(;kalent and covalent
o
(B) 6.62 x 10~ kg.m.s™' (@) (B) elec@yalent and co-ordinate covalent
' -ordinate
(€) 6.62 x 10** kg.m.s™! ﬁ (©) elewlent, covalent and co-or
(D) 6.62 x 103 kg.m.s! covaeg!
(D) covalent and co-ordinate covalent
62. 3.5¢ of copper was dissoh&d in excess B
~J 65. The follﬁying reaction describes the rusting
concentrated Nitric acid and ¢hg solution was on
i of iron —>

evaporated to dryness. The c@pcr nitrate so
4Fe + 30, — 4Fe’* + 607
formed was ignited to iﬁxidc which

Which OFtife following statement is incorrect?
weighed 4.4g. Then the equivalent mass of

(A) This is an example of redox reaction.
copper in gms 1s -

v (B) Metattlc iron is reduced to Fe**.
(A) 15.05 iy %

w (C) Fe’' dymn oxidising agent:
(B) 62.2 a‘; = o

(D) Metatlic iron is a reducing agent.
(C) 31.1
ﬁ 66. 252 mﬁilute sulphuric acid is completely

(D) 15.55

neutralised by 24.0 ml of 0.105 M NaOH

63. For which of the following reactions the value Wiy g -
solution. The mass of sulphuric acid present

e
' 9

pERR s areater tha KEJ ﬁ per litre &the solution is -
()] ' (&)

(A) N + O2 = 2NO e )

;| o (A) 0.»496
(C) 2NO, = N2O4 b’ (C) 49gi F:
(D) PCls = PCl; + Clz ; (D) 9.8¢
QSSTETP1- : Page 21 of 72 [SET-D]
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67. Nitrogen is having three unpaired electrons,

The pH of solution containing 0.4 gm NaQy

71.
according to - per litre is -
(A) Hund’s rule x (A) 2.0,
(B) Aufbau principle ‘f“:i i 2:%
NIEE ¢
(C) Heisenberg’s principle = ﬂ
(0))] () 10
(D) None of these Efi: %
£ (D) 1§
68. Addition of a molecule of HBrtobut- 1 - ene o
in the presence of peroxide gives - 72. The electronegativity of the following
(A) n - Butane elements increases in the order -
(B) 1 - Bromobutane S\ (A) C,N, Si, P
~d ~d
(€) 2 - Bromobutane S;' (B) NSEI, C.P
D) 1,2- Dibromobutane E{f (C) J-C»)E, C.N
69. The TUPAC name of follo i'nﬁ compound - (Dj P SIN C
OHC—CH:—CH—(IZH—CH=CH2 o '
: 3 At et
CHy— CHy— CHy— CHy hich of the following is the most stable
4 ‘ ety radica]?,
IS - : D o
! ~l .
(R) 4 - butyl - 2, 5 - hexadidd | - a] (A) Cigyt
—ad, SN
(B) 5 - vinyloct - 3 - en - 1 (9))
E (B) 2
(C) 5 -vinyloct - 5 - ep - 8% ¢
(D) 3 - Butyl - 1, 4 - hexadien - § - a ©)R,CH
0. i i .
70. How many o (Sigma) and o (Pi) bonds are (D) R ge
i tetracyanoethy¥®ne [C,(CN A
there in y )@}1 [C2(CN)4] U eas i tad o ¢
SRS y |
molecule? e it
(o)) (A) Cupiite
(A) Five o and nine © bon
E (B) Cﬁr glance
(B) Nine o and nine = bonds
(C) Malachite
(C) Six o and eight  bonds
(D) Copper pyrite
(D) Nine o and seven 1 bonds RSt Dyt
Page 22 of 72
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The gas X, diffuses twice as fast as another 78. The correct order of metallic character of the
as Y, which i i i
g which 1n turn diffuses thrice as fast as elements B. Al Mg and X - -
another gas Z. If molecular mass of the gas Z
: ‘ (A)Bx AL>Mg>K
is 144u, the molecular maﬁf_s:of gas X in ‘u’ BE;A 8
, ~ ~
is - o1 (B) A¢3 Mg>B>K
— m—
)
e : o (C) . (>K>B
Mz AL>K >
(B) 16 ﬁ ﬁ
2 (D) K>Mg>Al>B
(©) 2 P
(D) 4 ~ 79. The grocess in which metal oxide is reduced
~ 7
76. Isomerization in alkane magBe brought about to mé_%].l is called -
. o) o
BiIng (A) ﬁting
(A) ALO FE ~F
Ha e (B) Aluminothermy
(B) Fex03
: ; (C) Hydrothermy
(C) AICI; and HCI
— (D) N specific name
(D) Conc.H2SO4 H %l p
.\I
I R :
78 Haval weights of methané:’_?and oxygen are 80. One ig_)(e of Hydrogen at NTP weighs 0.09g.
()]
mixed in an empty container at 25°C. The lO(?pLQfanother gas at NTP'weighs 0.0765¢.
: e
fraction of total pressure @ted by oxygen The vapour density and the relative molecular
is - mass of the gas are respectively -
1
(A)3 — (A) 425 8.5
= 3
®)> o (B) 8317.0
! — —
0) ;
2 © 190, 34.0
(C)3
88 273 ﬁ (D) Worie of these
(D)saeos :
OSSTET/P-I Page 23 of 72 [SET-D]
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B -SECTION - III \
SCIENCE (PCM) MATHEMATICS e s S0
X S 4
81. The tangent to the curve y = e 4 the 86. What is the greatest value of iy
point (0, 1) meets X — axis at........... . 4
(A) (0, 2) 2 (Aﬁ
(B) (2, 0) & (B)4
-1
©(3,0) = (e
o (o]
(D) None of these (D)1 :
82. Quartile deviation is a aximately equal to - \ﬁ Y]
(A)%c ﬁ( ' 87. at is the value of cot [cos"l (2—§)] 3
25
(B)>c i o
5
2 o (Bf<
(C) 30 ~ N
(D)2 ) (€
¢ o (D f th
83. The equation to the chord of the circle T s
. e
X %"= 9 whose m point is (1, - 2) 88. Iﬁ(AnE):;,P(AnE:%,P(A)zP,
b S L T A P(B) = 2P, then the value of P is given by -
A) x 9y =
(A) x 2y=9 (A)%
B)x—2y-4=9 7
©x-2y-5-0 Bl
(DIRE0sits =0 P ]
84. IfA = [5 2] then the(:l.élue of A~! is - (Dg
&l = j07)
o B @ O S R R e
(A)
L= 3D A bﬁ .............................
1P - A
g, (B) 11
(C) ;
IR (€13
2 E =
O, ¢ &~ e
85. If R is a relation on aCmite set having ‘n’ 90. Thi:’_g'hagonal ofa rectan-gle i \/ZT S andag
elements, then the numpgy of relations on A aréds 20 sq.cm. What is the perimeter of the
e rectangle?
| A
(A) 22" ¥
(B) pn? ﬁ (B) 18 cm
! C
(©) 2 :D; 20cm
Lo 41 cm |
SSSTET/PI Page 24 of 72 [SET-D]
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91.

A sector of 56° has an area of 17.6 cm?. What

96. The third term of a G.P. is 4. What is the
1s its radius? product of 1% five terms?
(A) 1.5 cm (A) 43
(B) 3 cm (B) 45
(C) 42 cm (C) 44 44
(D) 6 cm : 3‘;‘ (D) None&zf these
92. The order of the quotient grox@?g x Zo % Z13 97 If A= =4, 3, 5, 7GR i SR SR g B
A (2, 2090 > s ol 1 s 6') =120 480 Lok .18} and N is the universal
(A) 18 set, the:Ethalue of AU ((AUB)NB') is -
(B) 36 FE (a) A T ‘
(C) 72 (B)N
(D) 144 o (C) B E‘
93. What is the number of bijectivefunction from (D) None'(}‘f these
set A to itself, when A contain%g% elements? 98. What is ﬁ‘gvalue Ofn “_)moo (ﬁ)x 9
(A) 106
(B) (106)? Wo
(0% % (B) ¢!
(€) (106)!
(C) ¢?
(D) 2106
g (D) g3
94- 1a 1 2n e o
What is the sum of the series E @y ? 99. What is tﬁ]valm of Ltz:ziz 9
n5 i ;
(A) ¢ ok (A) 1 5
(B) ¢! o (8)V3
(C) 2e ﬁ (c)_ ﬁ
D s
(D) None of these (D) 2
9s. 1 ;
A diagonal of the rectangle formed by the 100, What MW e Antbeint AE PO conie
linesx2—7x+6=0andyli’t4y+40=0 x2—4x4~$12 129
is - ~l (€]
v o w3 2
i —
(A) 5x +6y=0 - > (B)i
(B) 5x — 6y =0 ' V3 ﬁ
(C) 6x — Sy +14=0 F% Gz
(D) 6x — Sy - 14=0 (D) None of these
- OSSTET/P-I Page250f 72 [SET-D]
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41.

42.

43.

B —SECTION - III
SCIENCE (CBZ) CHEMISTRY

The momentum of a particle with a de-Broglie
wavelength of 0.1 nm s -

(A) 3.31 x 102 kg m ¢!
() 6.62 x 102 kg.m ¢!
(€) 6.62 x 1022 kg m.5!
() 6.62 x 1023 kg.m.s!

For which of the following ﬁions the value
of Kp is greater than K¢? =

(A) Nz + 0, = 2NO
(B) 250, + 0; = 2803
() 2NO, = N0,

(D) PCls = PCl5 + Cl,
The correct order of metallic character of the

elements B, A¢, Mg and K ﬁ
(A) B> Al>Mg>K %

oLG.LV1L

oLG/¥l

46.

47.

i

The pH of solution containing 0.4 gm NaQy
per litre 1s -

(A) 2.%

(B) 12

(C) IOK

© 19

Whicﬁ” the following is the most stable
radical”

(A) (.DIiQ

(D) m

48. Copper is extracted from -
(B) Al>Mg>B > K (A) Cuprite
Oy MR (B) Copper.glance
@) K>Mg>Al>B 1 s e
. . a (D) Cot%er pyrite
44. The process in which metak_g:(ide is reduced 49, Nitrogﬁ_{fl\ is having three unpaired electrons,
to metal is called - o accordgyy to -
(A) Smelting (A) Hund’s rule
(B) Aluminothermy ﬁ (B) A principle
(C) Hydrothermy o (C) Heisénberg’s principle
(D) No specific name (D) None of these
45. Equal weights of methane_gnd oxygen are 0. 3.5 afs copper was dissolved in excess
mixed in an empty contaigt at 25°C. The concer@ted Nitric acid and the solution was
fraction of total pressure ef#tted by oxygen evapotaltd to dryness. The copper nitrate so
i a; formedyywas ignited to its oxide which
i weighed 4.4g. Then the equivalent mass of
(A)3 COppgerR=gms is -
(B)-;- ﬁ (A) 15.
o
t2rs :
(B) = x = (D) 15.55

- OSSTET/P-1
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51.

The following reaction describes the rusting

_ 6. How many o (Sigma) and © (P1) bonds are
QLN there in tetracyanoethylene  [Ca(CN)
4Fe + 30, — 4Fe** + 60> . molecule?

Which of the following state‘_ﬁent is incorrect? (A) Five- and nine © bonds
(A) This is an example of re@}& reaction. (B) Nhf?i o and nine 7 bonds
(B) Metallic iron is reduced B%Fez”. (€) Siglg and eight © bonds
(C) Fe’ is an oxidising agent. (P) N2 5 and seven 7 bonds
(D) Metallic iron is a red‘uﬁgem, 57. Isom ion in alkane may be brought about
52. The electronegativity of the following ?Z) u:ln(g)-
; . 203
(eif;néen;s 1Snicr;ases in the order - (B) Fe, 0
e i e (C) AlCJ; and HCl
BN, Si, C, P B (D) Cohe.H>SOs
(C) Si,P,C,N (&)1 58. The FU}IHAC name of following compound -
(D) P, Si, N, C o OHCFH= CH = CH — CH = CHy
53. Addition of a molecule of obut-1-ene CHy— CHy —=iCHH = Clig
in the presence of peroxidiﬁs - is - ﬁ
(A) n - Butane (A) 4 - butyl - 2, 5 - hexadien - 1 - al
(B) 1 - Bromobutane (B) 5 - vinyloct-3 -en- 1 -al
(C) 2 - Bromobutane i (€) 5 -;/inyloct -5-en-8-al
' P g 59 (TDh) 3 ﬂl;(t},ld- f1 f 4e_ ht:{i(:eri -fjs; 215 another
54. 25.2 ml of dilute sulphuric ag'd is completely : gase 5’& hi,ch linutiril di;fus:sb thirice aslfastds
neutralised by 24.0 ml of @105 M NaOH another gas Z. If molecular miass of the gas Z
solution. The mass of sul ic acid present 1 e molecular mass of gas X in ‘0’
per litre of the solution is - T '
(A) 0.49g (A) 8
(B) 4.9¢ (B) 16
~(C) 49g i ©2 3
(D) 9.8¢ a (Dk4 a
S5." The types of bond present in5;1804. SH,0 are A 2 TS Hydrogen & NTP. \Yelghs R
- 100m/QX another gas at NTP weighs 0.0765¢.
only - The v r density and the relative molecular
(A) electrovalent and covalﬁ mass ﬁe gas are respectively -
(B) electrovalent and co-ordinate covalent (A) 4.25. 85
(C) electrovalent, covalent and co-ordinate (B) 8.5,17.0
covalent : , (C) 17.0, 34.0
(D) covalent and co-ordinate covalent (D) None of these
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B — SECTION - III

SCIENCE (CBZ) BOTANY "\‘
61. What causes Loose Smut of wheat? 66. When we peel the skin of a potato tuber, We
(A) Ustilago kOHCl_‘i ~ TCINONCINIE L .
(B) Ustilago avenae :Ei (A) peridgrm
- () Ustilago horde; g (B) epi@mis
(D) Ustilago tritici e (C) cutfdle
62. A fruit that develops Eﬁ bicarpellary, (D) sapwood
Syncarpous, inferior ovary and bears pappus 67. Ethylhs used for -
T (A) Retarding ripening of tomatoes
(A) Pome (B) Hastening of ripening of fruits
(B) Drupe :: () S]o;-%ng down ripening of apples
(C) Cypsela Ejﬁ (D) Caﬁ_‘gng reversal of dwarfism
(D) Caryopsis 6; geffdfically dwarf plants
63. The giant . redwood EEC (Sequoia 68. The filamentous thread like fungal bodies are
seémpervirens) is a/an - A calle celium. But in which of the
(A) Angiosperm following pseudomycelium is present?
(B) Free fern (A) Yeast
(C) Pteridophyte —4-; (B) Mu"_g'@\r
(B) Gymnosperm ~l (C) Rh@c'pus
64. The fusion of the second ma%amete with the (D) Pll%§1ia
secondary nucleus is calle triple fusion and 69. Ina dihybrid cross, if you get 9:3:3:1 ratio, it
the product is known as - E’ig denot s
(A) Seed (A) th&*dlfeles of two genes are interacting
(B) Embryo with each other
(C) Endosperm (B) itis a multigenié inheritance
(D) Cotyledons S (©) it is@ case of multiple allelism
65. When the body of the ovule ®4nverted in such (D) thealeles of two genes are segregating
a way that it bends back alo?gside the funicle ind ndently
and the micropyle lies closgsy the hilum, the 70. Casparian bands are found in the
ovule is said to be - ﬁ ------- CL e AR of roots of Zea mays.
(A) Orthotropous I 18
(B) Anatropous (B) Cortex
(C) Amphitropous 9l Endodermis
~ (D) Circinotropous (O pith
" OSSTET/PI Page 28 of 72 ‘\\*‘ [SET-D!
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71. What according to Mendel was responsible
for the inheritance of specific traits?
(/_\) Genes
(B) Factors
(C) Chromosomes

(D) DNA

5] 91G/¥1

72. Secondary Growth in the stelar region is

initiated due to the activity of

(A) xylem

(B) phloem i
N

(C) cambium (&)
—

(D) bundle sheath ()

73. Which one is unrelated‘ pair? ﬁ
(A) Early Blight of Potato - Alternaria solani
(B) Late Blight of potato - Phytophthora
; infes;Ens
(C) Bacterial Blight of rice - Poa\l‘glery mildew
(D) Stem Rust of wheat - Puccif?a graminis
74. What is the first intermediate ﬁ product of
dark reaction in carboxylative ph'ase?
A Phosphoenol pyruvate
(B) Phosphoglyceric acid
(C) Phosphoglyceraldeﬁyde
(D) Pyruvic Acid

VA4S

75. Funaria differs from Dryopteria having -
(A) Independent gametophyte ﬁ
(B) Dependent gametophyte
(C) Independent sporophyte
(D) Dependent sporophyte

OSSTET/P-I

76. Algae are autotrophic and photosynthetic.

But which of the following is parasite algae?

(A) Oedogenium

(B) Ulva =

(€) Ulothia

(D) Cepha?e)uros

77. Identify gﬁncorrect statement -

(A) In asexual reproduction, the offspring
produced are morphologically and /
genetically identical to the parents.

(B) In asexmal reproduction, a single parept
produa offspring, with or without the
formaﬁan of gametes.

(€) Conidf® are asexual ~structures in
Peniﬁm.

(D) Zoosp'o-res are  sexual reproductive
structures.

78. Avena coleoptile test is for which of the
flowering pormone?
(A) JTAA
()

(B) NAA =
(0))
(C) AB
(D) GAH
79. The enzyme that is not found in a C3 plant is -
(A) RuBP carboxylase
(B) PEP carboxylase
(C) NADPLReductase
(D) ATP mthase

80. Dark reacB'%n in photosynthesis is called so,
because - ;

(A) it ca ur in dark also.
(B) it does not depend on light energy.
(C) it cannot occur during day light.

(D) it oceurs more rapidly at night.
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B - SECTION - 1II

SCIENCE (CBz) ZOOLOGY
L\\ _— S T AR \l
81. Kidney of man s - ‘ﬁl 86. Which of @# following is not a producer?
(A) Opisthonephros E'.n; (A) Spiro%l;a
(B) Pronephros ) (B) Agaricus
(€) Mesonephros ﬁ (C) Volvﬁ
\ (D) Metanephros (D) Nostoc
\ 82. Hepato-pancreatic  duct opens into the 7. Glycolysis /is: the ymitial proc?ess of cellular
duodenum and carries - respiration in which glucose is broken dowp
' to the level of -
::; Zforeati jui K (A) Pyr uvfiﬁcid
e ~ (B) AcetylEﬁoA
(C) Both Bile and Pancreatic JufeB a1
(D) Saliva CD (©) Lz_iCt'lC .ld
: (D) Citric acid
83. Which one of the following f animals 88. The seqﬁe of ebtiinities of Bl
belong {0 & single taxonomic B plant succession in water (Hydrosere) is -
(A) Cuttlefish, Jellyfish, silverfish. dogfish, (A) Phytoplankton, sedges, free floating
Sl o hydrophvtes rooted hydrophytes, grasses
(B) Bat, pigeon, butterfly n and tre-ﬁs
(€) Monkey, chimpanzee, man (\l"' (B) Phytolﬂlhkton, free floating hydrophytes,
(D) Silkworm, tapeworm, earth‘@nn rOOtedE\ydrophytes, sedges, grasses and
84. Which of the following pairs 1an’? trees ﬁ
(A) Uricotelic - Birds : (C) Free ating  hydrophytes, sedges,
(B) Ureotelic - Insects phytoplankton,  rooted hydrophytes,
(€) Ammonotelic - Tadpole b lg)ll'::::Sldnd trees
(D) Ureotelic - Elephant - N ankton,  rooted  submerged
: -\ h)’dfophs{tes floating hydrophytes, reed
85. The amormt of anr. that- m(?ves inadd (.ml .of th.e sl Imedges T o gt
lungs, with each inspiration andZaxpiration is 89. The OUteBgost el g
Galled - vascular brane of the brain is called -
(A) Residual volume ﬁ (A) Pia “%
(B) Vital capacity (B) Arachnoiq o
(C) Tidal volume (©) Dura matey
(D) Tidal capacity (D) Grey matter
“OSSTET/P-1 Page 30 of 72 m
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90. In normal adult blood pressure is expressed

96. The deoxygenated blood is carried by
as -

NI S i oLt bt Vo T A R .. to the lungs.
(A) 80/120 mm Hg -E‘l (A) pulm@ry artery
(B) 120/80 mm Hg g (B) pulmé#&hry vein
m—
(C) 150/90 mm Hg (0)) (C) syster@ix artery
(D) 90/50 mm Hg (D) caropigartery
91. Which among the followi';a'g ok 97. Identif}%‘ wrong statement, which is not
chromosomes? : observed during meiosis?
(A) Spermatogonia (A) Pairing of homologous chromosomes
(B) Zygote ' ' (B) Four haploid cells are f?med ‘
) S (C) At the end of meiosis the number of
(0) Oogonia chromosomes are reduced to half
L (D) Two eyeles of DNA replication occurs
92. The nitrogen base not pre.{%t in DNA 98. Crossing-eyer occurs between -
SIUCTHIC 9: (A) Non-gjgter chromatids of non-homologous
(A) Adenine (0)) chrofidkome at Zygotene stage of
(B) Guanine ﬁ proﬁ—l
(C) Uracil 3 (B) Non'Sister chromatids of homologous
(D) Cytosine chromosome at Pachytene stage of

93. Corpus luteum secretes a hormone prophase-1

(C) Non-sister chromatids of non-homologous
called -

: o, chromosome at Pachytene stage of
(A) Prolactin S SoLh %_1
\I
(B) Progesterone _U_: (D) Non—ﬁ_&'\ter chromatids of homologous
(C) Aldosterone » chronggsome at Zygotene stage of
(D) Testosterone - prop%l
94. Which type of cleavage is fouﬁ insects? 99. Reappedfante of certain ancestral characters,
(A) Discoidal : which had either disappeared or were reduced
T . in the offspring is known as -
oloblastic - (A) Homglggous
—
(C) Coeloblastula ﬁ (B) Atavi@
(D) Superficial ($)] : (€) Vestiéﬂ;l
—
95. Who proposed the Fluid Moggiy Model of (D) Anala@us
Plasma membrane? ﬁ 100. Analog gans arise due to -
(A) Camillo Golgi (A) Div t evolution
(B) Schleiden and Schwann (B) Artificial selection
(C) Singer and Nicolson (([:)) Genetic drift ‘
OF R Brown (D) Convergent evoll’mon
<
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R 7 (A) Sz
(A) 2012 , G
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(B) 2010 ~J (C) argarem
(C) 1980 E =
= (D) SR
(D) 1985 g
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B
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[\ A el C_SECTION-1V

COMPULSORY FOR ALL STREAMS '
l CHILD DEVELOPMENT, PEDAGOGY, SCHOOL MANAGEMENT AND EVALUATION

L

101. Total number of members in School

—
Management & DevelopmentnCommittee are-

~
(A) 15 W
—
(B) 16 o
(C) 17 ﬁ

(D) 18

102. Who is more active in critica}gedagogy?

(A) Teacher

Meamer

(C) Parents

9LG.

103. The quality education of a school

(D) Society

‘management mainly depends_lipon -
(A) Infrastructural facilities ﬁ
%aching — learning apprgach
(C) Tutorial and attractive class

(D) Classroom and laboratoﬁ

104. Which method of evaluation is effective for

both Curricular and — Co-;;umcular

’

achievements?

Ly

(A) Formative

n
—
(0)]
LB)/émprche’nsive ﬁ

ke et e e ]

e

105. Which method is more effective for
——
self—assBﬁsment?
(A) Obﬁiﬁvation
(/B)Ass(i@nmem
odpgo
(D) Rubrics -
106. Pedagogy is a science of -
—
(A Teaphing
\l-
(B) Ledthiing
=y
(C) Actit
(D) ing
107. Cognitive constructivism does not depend on-
(A) Experience of the child
(B) Environment of the child
(C) Co/ggépt of the child
(\%q@gitiveness of the child
108. Which gfy the following is not coming under
the uses of observation in assessment?
(A) It HigF used to study interpersonal

relationship in case of shy and exceptional

\jylﬂdren.
-
LBYTi is&ed to study and record actual pupil's

behiour in the natural environment.
(©) 1t i€Wed in ascertaining the general trend
of ppmmion of a group.

(@) It "cai’ be utilised for the purpose ol

(C) Diagnostic .
o 'Aptitude ol-aserva(‘lon o-t‘ a single individual pupil or

, Eroup of pupils.
“OSSTET/P-1 Page 64 of 72 A ey T SET-DI
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109. Which is not the principle of growth?
(A)/érowth is gradual

(B) Growth 1s quantitative

(C) The rate of growth is not even

ily/Growth follows a pattern

110. The basic purpose of school manﬁ'gement is to
help - ()

. N

(A) Teachers in improving methgg

(B) Teachers in understanding E?a
(C) Teachers in dealing pupil

Mlildren learn more effectivﬂy

111. According to Piaget, the pre-ope@ional stage
(&)

—h

(0)

coincides with -
(A) Pre-childhood stage
(B) Early childhood stage ﬁ
(C) Late childhood stage
(D) Adolescence étage
112. Instinct of constructiveness is associated with

which type of emotion?

(A) Distress
'V(yé:ing of creativeness

(C) Fear
(D) Negative self-feeling

Nl 91G/vl

113, If 1.Q. of a person is 150 and Mental Age is
30, then what is the value of cbronologmal
O'l

Age? o
i mli

AL 1D . "59
(A) 10 b

@0

bl

(€) 30 e A

> )
114, Which type ol ohservation technique 15

(A) Objective
(B) Subjective

\(9/1)/iagnostic

(D) Preven@e

115. Who wa;}i' the propounder of social
—
constructivabm?

ol

(B) Jean Piaget
(C) Noam Chomsky
(D) Kohlbetg

O
116. Innate thecg% was developed by -

ﬁoanﬁgmsky
(B) Erikson
(C) Kohlberg
(D) Vygotsky -
. —
117. iomh: -
Maturatio A
(A) Psychoi'&';ical Process

»
ental Process
(C) Leam@rocess

jm/Biological Process
118. Which ofthﬁfollowing is both qualitative and

quantitativﬂ
(A) Observgpn

(B) Experﬁmtion

(C) Study
D)Evaluati
(D) 40 @) Evaluation
& Page 65072 ——
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19, Which of the following is one of the foremost 123. “A project 15 @ problematic act carried y,
in its natural setting.” -~ Who saiq

requisite of a good administrator? completion 1
(A) Confidence i?
(B) Power e (A) Kilpatric
~ R
(C) Chair C_’: (B) Stgnson
(8)) (© o
(D) Wealth y@rﬁ’
Eﬁ (0) Sﬁrg
120. Name the first psychologist Who defined the
? 124. Number of Teachers to be nominated to SMC
| Mental Age - _
L e LR
'l A) 1.P. Gui
( Iford (7'1 @ 01:.5
= (&)
| (B) L.L. Thurstone o) (8) 02 a
¢ (& Gagne ﬁ ; 4 Oﬁ
) Alfred Binet (D) 04 '
: u Which of the following are only visual aids? 125. Who was the propounder of multiple theory of
g (5 . SRR |
i ka«boud, Charts, Flaaascards , _mtelllgigce?
* . CJ‘I - (A)S :
Radlo, Tcles’-islon -y Raman
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V

. Wwhich is. not associated with intellectual

development?
(A) emo;ization fio
(B) Concept formation ; : Zﬁ
. O
(C) Observation N
(0))

D) Socialisation

128. Which. method is different from Either

three in assessment point of view?

(A) Field work
(B) Group work

: . N
(C) Project work :E»l
(DY Classroom Demonstration (ﬂ

129. Which of the following i1s a den?grit of
observation? ﬁait
(A) More reliable

(B) More searching
@41; consuming ‘5
(D) Very flexible (-J:
130. According  to  Thurstone’s  approach

mtelhgence comprises how many E%s of

mental abilities?

(A) 07
@0/9

.. N

c 5

(€) 10 g

(D) 12 s
ith growth

131. Which principle is not assocnated wi

1

~ and development?

(A) Principle of continuity
- Principle of contiguity

(C) Principle of integration

: (o) Prmcnple of segregation

132. By which method of assessment, the

: : ified?
weakness of a learner can be identi

—
(A) Continuous f:]
. . m
(BY Diagnostic —
(0))
(C) Summative
(D) Formative
133. When did multilingual education start in our
state? -
iy
(A) 2005-2006 ¢
(8) 2006-2007
(G¥2007-2008 ﬁ
(D) 2008-2009
134. Development progeeding in the direction of
D
longitudinal axis&q{ead to Foot) is called as -
yéphalo—ca@ tendency of development
(8) Proximodisﬁndency of develdpment
(C) Spiral tendenE:y of development

' (D) None of the above
T

S
135. Which is not rec’:;ted with the objectives of
_-\
motives?
(A) To energiz behaviour
i)/l{ stabilize the behaviour

(C) To stimulate the behaviour

(D) To activate the behaviour

Page 67 of 72
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: A ; : ment during adolescepc,
136. What is the sequence of preparing a project? 140. Social develop e

(A) Choosing, ~ Planning,  Executing & include -

Evaluating (A) Fear and Shame

: . _like behaviour
\(%mmg. Choosing, _sExecuting & \(%dﬂt like be

S Y
Evaluating ~J (C) Restlessness
= ol tion
i : e : natio
(C) Executing, I:valuatmg(,); Choosing & (D) Ir

Planning 141. Which_one 1s the internal condition of

-

(D) Evaluating, ~Choosing,” " Planning & Jearnfirg:

(A) Contiguity

Executing
. B) Praetice
137.In  which step difﬁcuﬁ value and ( )} r-h
~J C) Disgrimination
discriminating power of th&l test items are 7 18#
e (D) Eng;ing behaviour
determined? oy

: 142. Whi e of motivation is rélated to reward?
(A) -out ﬁ L2
,\% ’ o | (\Aﬁggic

(B) Planning
(B) Intrinsic

(C) Bio_@gical
(D) Intgpal
—

(C) Preparing

(D) Organising

Glyl

138. In India, the school administration should,be - )
o) 43} ConcefPformation primarily relates to -

Wocratic iti
ﬁ (A) Cﬂwe development

B t s
(B) Autocratic (B) Conative development

C) Bureaucratic
(C) Bureau (C) Psycho-motor development

(D) Idealistic _-l; (D) Aﬁﬁtive development
139. In which test raw sco@ are directly 144, Which(_\ltif the following is related to learners

interpreted? (0)) handw#ing?
(A) Standardised test ﬁ (A) F;
B) fbjective test ‘ (B) Soci.éty
(C) Teacher- made test ©) E ironment
(D) Objective based test \(B'd:;lrution

‘ '6's'§;'§T [P_”I : " Page68of 72 flga./m
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145. which 18 not a factor of democratic

management?

(A) Cooperation
(B) Coordination
(C) Integration

%position

146. In which situation the learner constructs

73] 9167l

his/her own knowledge?

‘ (A) Teacher-centred

s

(B) Lé€arner-centred

] 916/¥)

(C) Learning -control
(D) Subject-control
147. Lecture-method is generally called as -
~

(A) Learner-centred

-\l
(@)
—
(B) Child-centred »

(C) Activity-centred ﬁ

\(Q/éaclw}«centred

Al oLsivl
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148. Progressive change in quahty p |

and character is called -

(A) Growﬁ
(@)

\(B/)Déve@)pment
(C) Proﬁg

(D) All the above
149. Which one is not a tool of observation?

(A) Rating scale
——

P
(B) Check~list
(@)

—
\Wﬁmment test
(D) Anﬁal record

150. Which one is the first phase of a leaning

sequence?
S
(A) Matu@lﬂion
—
Wotiﬁﬁon
(C) mteﬁ
©eiion
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